HE TG F g 3X 7 FIA O
£mh S E Hhig
O~14% |15~64m] 65mLLE £t O0~145% |15~64i%| 65mLLE &t
E: 9,750 50,968 22,536 83,254 ] 2,440 12,813 6,259 21512
s 9,268 52,631 30,800 92,699 = 2,394 14,094 8,860 25,348
it 19,018] 103,599 53,336] 175,953 =t 4,834 26,907 15,119 46,860
B 10.8% 58.9% 30.3% 100.0% AL 10.3% 57.4% 32.3% 100.0%
ﬁEEAD it 69.8 ﬁEAD 5 2 74.2
F/> ANOIES 18.4 D YNSEE 18.0
ZEANOEHR 51.5 %EADF o 56.2
ZELIBEH 280.5 ZEILIEE 312.8
g 85,131 =3 23,165
Eits his R Hhig
O0~14%% | 15~645%| 65m Ll E £t O0~14%% | 15~645%| 65 LA E Hi
E] 1,265 6,671 3,540 11,476 3] 1,985 9,869 4,482 16,336
=S 1,177 7,054 4,750 12,981 = 1,830 9,976 6,210 18,016
&t 2,442 13,725 8,290 24,457 &t 3,815 19,845 10,692 34,352
R 10.0% 56.1% 33.9% 100.0% HERCLE 11.1% 57.8% 31.1% 100.0%
- PNEEE 78.2 DN 73.1
EIN=ET 17.8 EINSEE 19.2
%EAD e 60.4 %E)u:l e 3K 53.9
ZELIEH 339.5 EFLIEH 280.3
T 11,518 T 16,338
K ithis F B hig
O0~14%% |15~645| 65m Ll E &t O0~14%% | 15~64%%| 66mLLE £t
E:] 2,725 14,253 5,141 22,119 ] 1,335 7,362 3,114 11,811
S 2,582 14,010 6,855 23,447 = 1,285 7,497 4,125 12,907
Hi 5,307 28,263 11,996 45566 it 2,620 14,859 7,239 24,718
R 11.6% 62.0% 26.3% 100.0% R 10.6% 60.1% 29.3% 100.0%
1iEJEAEI i 2 61.2 17EJ§)\|:I = 66.4
F/> AOEH 18.8 F/ NOEH 17.6
ZEANOER 42.4 %EAD = 48.7
ZEILIEH 226.0 EZELIEH 276.3
5 22,586 =% 11,524
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O~14%-FL A (A)
15~647%%:- if‘ﬁﬁun (B)
65 E --EFEAO (C)

ERAOEH=A+C)-BXx100
FELANOEH=A-Bx100
ZEAOEH=C+-Bx%x100
BELIEH =C+-AXx100

E BRI R U TE2MERER
ADT=-O#HBENRIT LGN EMN
HYFET,

EER4FETAIBERERBIRED
HEIZKYNBEAELEFENTEYET,

FAZTE~ATH-EXRERTE
K T9
A—TEBRREMSMETY,

SRR L ER



